



aftrekken van breuken (eigenlijke breuk) (onjuiste
breuk)

Naam: _____

Datum: _____ Score: _____

$$\frac{5}{4} - \frac{1}{9} =$$

$$\frac{2}{4} - \frac{1}{7} =$$

$$\frac{3}{2} - \frac{3}{9} =$$

$$\frac{7}{3} - \frac{4}{6} =$$

$$\frac{2}{3} - \frac{2}{8} =$$

$$\frac{5}{3} - \frac{5}{9} =$$

$$\frac{1}{4} - \frac{1}{9} =$$

$$\frac{6}{7} - \frac{6}{9} =$$

$$\frac{3}{2} - \frac{3}{6} =$$

$$\frac{7}{3} - \frac{1}{2} =$$

$$\frac{4}{7} - \frac{1}{5} =$$

$$\frac{3}{5} - \frac{4}{9} =$$

$$\frac{6}{8} - \frac{2}{9} =$$

$$\frac{4}{7} - \frac{1}{4} =$$

$$\frac{3}{6} - \frac{3}{8} =$$

$$\frac{3}{2} - \frac{5}{6} =$$

$$\frac{4}{6} - \frac{3}{9} =$$

$$\frac{7}{4} - \frac{2}{6} =$$

$$\frac{6}{5} - \frac{5}{6} =$$

$$\frac{7}{6} - \frac{3}{8} =$$



Naam: _____

Datum: _____ Score: _____

$$\frac{5}{4} - \frac{1}{9} = \frac{41}{36} = 1\frac{5}{36}$$

$$\frac{2}{4} - \frac{1}{7} = \frac{5}{14}$$

$$\frac{3}{2} - \frac{3}{9} = \frac{7}{6} = 1\frac{1}{6}$$

$$\frac{7}{3} - \frac{4}{6} = \frac{5}{3} = 1\frac{2}{3}$$

$$\frac{2}{3} - \frac{2}{8} = \frac{5}{12}$$

$$\frac{5}{3} - \frac{5}{9} = \frac{10}{9} = 1\frac{1}{9}$$

$$\frac{1}{4} - \frac{1}{9} = \frac{5}{36}$$

$$\frac{6}{7} - \frac{6}{9} = \frac{4}{21}$$

$$\frac{3}{2} - \frac{3}{6} = 1$$

$$\frac{7}{3} - \frac{1}{2} = \frac{11}{6} = 1\frac{5}{6}$$

$$\frac{4}{7} - \frac{1}{5} = \frac{13}{35}$$

$$\frac{3}{5} - \frac{4}{9} = \frac{7}{45}$$

$$\frac{6}{8} - \frac{2}{9} = \frac{19}{36}$$

$$\frac{4}{7} - \frac{1}{4} = \frac{9}{28}$$

$$\frac{3}{6} - \frac{3}{8} = \frac{1}{8}$$

$$\frac{3}{2} - \frac{5}{6} = \frac{2}{3}$$

$$\frac{4}{6} - \frac{3}{9} = \frac{1}{3}$$

$$\frac{7}{4} - \frac{2}{6} = \frac{17}{12} = 1\frac{5}{12}$$

$$\frac{6}{5} - \frac{5}{6} = \frac{11}{30}$$

$$\frac{7}{6} - \frac{3}{8} = \frac{19}{24}$$